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Thanksgiving Addition

Solve the following word problems.

A store had 5,678 Thanksgiving frills. They then
received a new shipment of 3,456 frills. How many
frills does the store have now?

For Thanksgiving, a farmer harvested 2,466
pounds of potatoes and 5,123 pounds of corn. How
many pounds of crops did the farmer harvest in
total?

A bakery baked 4,010 pumpkin pies and 3,635
apple pies for Thanksgiving. How many pies did
the bakery bake in total?

A charity organization distributed 6,142 canned
goods and 3,362 blankets for Thanksgiving. How
many items did the organization distribute in
total?

A grocery store sold 2,518 turkeys and 4,509 hams
for Thanksgiving. How many meat items did the
grocery store sell in total?

A community center is preparing for a
Thanksgiving feast. They are expecting 2,000
adults and 6,000 children. How many people in
total are they expecting?

A bakery used 3,456 berries to make sauce for
Thanksgiving. They then used another 2,345 berries
to make desserts. How many berries did they use
in total?
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